PLACE 2X6 FLAT NEXT TO <E> JOISTS @
ROOF PRIOR TO REMOVING JOIST
SECTIONS @ <N> ELEVATOR SHAFT -
TO EXTEND 3' PAST JOIST CUTS - TYP

15/16" PLYWOOD OVER METAL STUD
FRAMING AT SHAFT

6005200-43 @ 16" O.C.

6005200-43 TRACK ATTACHED @
CONCRETE SHAFT W/ (2) TITEN

3-0" 3-75/8" 1/4"X2-3/4" SCREWS @ 16" O.C. - TYP
© 2013 RYAN SENATORE
7 3/8" EMBED PLATE W/ 4"X7"X3/8" ARCHITECTURE
HE [ CONNECTION PLATE & (4) 1/2" X 6"
= H.A.S. SET IN FULLY GROUTED CMU
ilisz CELL
S DOUBLE 11 7/8" LVL LEDGER @ <E> T >_
1T ROOF JOIST SUPPORT ATTACHED W/ (2)
\ 8"X 5/8" GALV WEDGE ANCHOR @ 16" m
O.C. INTO FULLY GROUTED CELLS - TYP
W12X26 HOIST BEAM BOLTED @ EMBED m
PLATE
SECTION 1 /4" _ 1 ] O W12X26 BEAM BETWEEN ELEVATORS O
S2O1 —1- AT EACH FLOOR LEVEL |
— — | W
. [~
600TT50-43 GALV - TOP & BOT |
<E> 2X JOISTS @ 16" O.C. 7o TRACK - TYP ! 6008200-43 @ 16" O.C. - TYP D LL]
o FINISHES PER ARCH m LL]
<E> WOOD BEAM TO BEAM REMOVED AT <N> ELEVATOR b | I Z
SHAFT LLLA . = ShL ARG o [ PAGON A BRACH WAL T 600TI50-43 GALY - TOP & BOT = Z
TRACK - TYP -
y (2) 4X4X3/8" ANGLE @ <E> WOOD BEAM SUPPORT W/ (2) - 2 2 4 | < 0P <E
" WEDGE ; ; " S FASTEN HOR STUDS TO DIAGONAL
/ DS SCREWS TO BEAN - TYP e § OF BLEVATOR HOIST BEAM, 5/8" FIRE TREATED EXTERIOR %" STUDS (FLATTO FLAT) W, () #10 SELF 4 Yy =
T 7Pl VERIFY W/ ELEVATOR PLYWOOD SHEATHING OVER TAPPING SELF DRILLING SCREWS 16 GAUGE BENT PLATE CLIP @
e 4X4X3/8" ANGLE @ <E> WOOD BEAM SUPPORT W/ (3) 5/8" MANUFACTURER METAL STUD FRAMING - SEE IYP A 32" O.C. W/ (4) #10 SELF LL] -
] — ] WEDGE ANCHORS AT GROUTED CMU CELLS & (2) 5" SDS PLACE 2X6 FLAT NEXT TO <E> JOISTS @ NOTES ON $1.0 %4 7 < DRILLING SELF TAPPING TEK | O
SCREWSTO BEAM -TYP ROOF PRIOR TO REMOVING JOIST SEE ARCH FOR EXTERIOR — /\ FD?iTGE()h]NiILAsl\]T%ED%%I;t%I(){EEY?LL o e SR s neto O prd
@ SECTIONS @ <N> ELEVATOR SHAFT - .| FINISH & WEATHER BARRIER I~ RSO . y A 4 TAPCON SCREWS W/ 11/2 (D <E
DETAIL 1 / 4"=1'-0 TO EXTEND 3' PAST JOIST CUTS - TYP Z ) I EMBED INTO <E> CONCRETE I_ <
% Z| HEAVY FLASHING -SEE ARCH — | 6008200-43 @ 16" O.C. - INFILL END WALL MIN. - TYP —
600S200-43 @ 16" O.C. - MATCH ROOFING S| FOR DETAILS INSIDE OF TURNBACK WALL < O I—
féﬁg;%ifigé?ﬁgﬁmr) GYP AT T | 8" METALSTUD TRACK ATTACHED TO P.T. < 7<~— 5/8" FIRE TREATED EXTERIOR = Y
i z PLATE W/ (2) 1/4"X2-1/4" SDS @ 12" O.C. PLYWOOD SHEATHING - SEE > O
SEE ARCHITECTURAL FOR FIRE ) i ‘ ‘ ny NOTES ON $1.0 <
RATED CEILING & VENTING ———— DOUBLE 2X12 P.T. PLATE ATTACHED TO NEW 0
REQUIREMENTS DECKING AT ELEVATOR SHAFT W/ (3) SDS @ - 1 i LL —
12" O.C. W/ FULL PENETRATION ; L I
Mﬂ;a e . <E>WOOD BEAM TO BEAM REMOVED AT / EXISTING CONCRETE
BOTTOM OF ROOF DECK T A <N> ELEVATOR SHAFT BOTTOM OF ROOF DECK = = —— - 16 GAUGE BENT PLATE CLIP @ 32" | o
140-7" - - — b Z 4 4X4X3/8" ANGLE @ <E> WOOD BEAM 140-7" —— | o O.C. W/ (4) #10 SELF DRILLING d| LL N
R I 41‘{ | A SUPPORT W/ 5/8" WEDGE ANCHORS AT [ et SELF TAPPING TEK SCREWS INTO 600TI50-43 GALV - TOP & BOT
& I N PR CMU # (2) TIMBERLOCKS TO BEAM - TYP | SEEED \;{s -X*%TIEEEéQCﬁ-;/E 4 yp ~ TRACK - TYP
= — 1 ; ey g
ﬂﬂ]ﬂl’ L : | — - ‘”Iﬂm <E> 8" STEEL COLUMN AT ROOF f 5 6005200-43 @ 16" O.C. - TYP
aa J—‘ —L T “‘"& BEAM SUPPORT I 600T150-43 GALV - TOP & BOT
M — W12x26 HOIST BEAM BOLTED @ I TRACK - TYP LIJ
. il T EMBED PLATE i 0
< L1 L1 L
5 Y I I | —— SEEELEVATOR MANUFACTURER . | 2
2 - 3:-o I FOR GUIDE RAIL ATTACHMENT & . I
: o) —t = - .
Q § % 6'-11" R.O. -TYP VERIFY W/ _|L|l] . W12X26 BEAM BETWEEN ELEVATORS < i
= als ELEVATPR MANUFACTURER]|| | L1 AT EACH FLOOR LEVEL © | " :
é = Eﬁ R | DOUBLE ANGLE 14X4X3/16" X i @‘\/ HOR BRIDGING @ 32" O.C. DETAIL 8-2 1 1 1 /2 :1 —O
= 2 0'-8" AT BEAM ATTACHMENT X
o, Tt " " A= 7 I
o il | ————— (9 8"X5/8" GALV WEDGE i 6008200-43 @ 16" O.C. - TYP
12 ANCHOR ; -
9E i EXISTING CIP FLOORS | 600TT50-43 GALV - TOP & BOT
- | -
ik i EXISTING CONCRETE BEAM d TRACK - TYP RYAN SENATORE
[l i AT FLOOR SUPPORT - SEE PLAN i
127'-6.1/2" a 5 1276 1/2" - i - - ARCHITECTURE
= : ’ EPOXY SET 30" #5 REBAR 8" INTO | IR, 565 CONGRESS ST. SUITE 304
vﬁ EXISTING CONCRETE AT FLOOR o oy PORTLAND, MAINE 04101
@ 32" O.C. ALL 4 WALLS IN SOLID |1 16 GAUGE BENT PLATE CLIP @ 32" 207-650-6414
ULJ Ly GROUT FILLED CELLS % O.C. W/ (4) #10 SELF DRILLING senatorearchitecture.com
SELF TAPPING TEK SCREWS INTO
\ STUD & -(4) TITEN 1/4"X2-3/4" CONSULTANTS:
EPOXY SET 30" #5 REBAR 8" INTO SCREWS AT <E> CONCRETE - TYP
. \/— EXISTING CONCRETE BEAM 0 STRUCTURAL:
< ] Structural Integrity
< 77 Oak Street
A \ -
; = JT - ¥ ALL CMU BLOCK - 1HR FIRE T 5 ;’8;t|?;2:4'\g|154041 01
> = f RATING N . 5/8" FIRE TREATED EXTERIOR e
0 O 25 X | “ PLYWOOD SHEATHING - SEE
2| = alls ] Iy 0 NOTES ON $1.0
~— <C —
7 s | [ SEE GENERAL NOTES FOR
|z B LOSE LINTELS -TYP 600S200-43 @ 16" O.C. - TYP
2k K | ] o
= T
| I THRESHOLD BY ELEVATOR C00TI50-43 GALY - TYP
2 g I AT MANUFACTURER -TYP 600T150-43 GALV - TOP & BOT \
&= | \ TRACK - TYP
<= 0
|5 I 11— FILL AND LEVELING PLATE, I .
11310 3/4" @ M I SEE ELEVATOR SHOPS - TYP 11310 3/4" — 16 GAUGE BENT PLATE CLIP @ 32"
: B B I EREEER O.C. W/ (4) #10 SELF DRILLING 2) #10 SELF DRILLING. SELF
\ L6x4x5/16 (LLV) W/ 5/8" O x4" W.A. '[ L SELF TAPPING TEK SCREWS INTO gFB\PPING TEK SCREWS @ 16" O.C.
1 Il INTO GROUTED CELLS @ 16" AT STUD & -(4) TITEN 1/4"X2-3/4"
————— —— DOORS, SEE ELEVATOR SHOP SCREWS AT <E> CONCRETE - TYP
L L DRAWINGS 0 REVISIONS:
8X1/2" GALV PLATE @ FRAMING é
8" CMU ELEVATOR SHAFT W/ #5 SUPPORT 01/16/2014
/ ) . . FRAMING REVISION
« 1 VERTS IN GROUTED CELLS AT 5 FABRIC AWNING ON SHOP
g gﬁ;‘g%ﬁ%@fgﬁ%g@ ;{“AK FABRICATED METAL FRAME SHIM AND GROUT PLATE AS
. b -O- REQUIRED
= REINFORCING @ 16" AND HORIZ. : BLOCKING BETWEEN STUDS FOR
> | M el BOND BEAMS W/ (2) # 4 CONT. @ > L) 0 AWNING ATTACHMENT 10" GALV WEDGE ANCHOR @ 12"
K4 & il 8'-0 MAX. AND AS SHOWN-TYP = 0.C. DATE: 11 MARCH 2014
S =5 Ul i z«%
o alls e #4 DOWELS EPOXY SET 6" MIN INTO WALL - - 5
G o M H — B " EXISTING CONCRETE PROJECT No.
- =z |l / MATCH VERT WALL STEEL . 000S200-83@16" O.C.- TYP
=) :
< 2 r’ EXISTING CONCRETE COLUMN - SEE DRAWN BY: WRMc
r|2 1 ] PLAN -TYP 0
SlE alilinm EXISTING SOG, SEE PLAN -TYP CHECKED BY: ACJ
|5 L o
- | .
= L L | EXISTING FOOTING TO BE VERIFIED o SCALE: AS NOTED
10020 ! | L HEEN s [] SAW CUT EXISTING FOOTING 100-0 S : T SHEET TITLE:
& -H ; BEYOND AT <N> CIP WALL, OR <N> i
| \ y | FOOTING - EPOXY SET 18" # 5 BAR @ \¥ SECTIONS
< 4 -~ 12" O.C. W/ 12" EMBED TYP
> 8" CIP WALL W/ (2) #5 HORIZ. TOP + \/—\ EXISTING CIP WALL A "=1'"-
% BOT. #5 VERTS @ 16" AND #5 HORIZ. 1 DETAIL S-2.1 3=1-0 \
in @ 12" -TYP EXISTING FLOOR SLAB N—" MARO\\’X
] 120
‘ #5 HOOKED DOWELS, IN SLAB/
J — ——— 50 FOOTING TO MATCH VERTS -TYP OR
STEEL PIT LADDER. BY OTHERS L ! _ #5x 50 DOWELS EPOXY SET 6" INTO
— 8" SLAB/ FOOTING
NOTE: PHASE 1ST POUR AS NEEDED TO 8" SLAB ON GRADE/ FOOTING W/ #5
NOT UNDERMINE EXISTING FOOTINGS "E . _DEPTH - a
SECTION (A 1/4"=10 e s o o SECTION (B 1/4"=10
S-2.1 SUMP PIT PER ELEVATOR SHOP S-2.1
N— DRAWINGS -TYP ~—
* VERIFY ALL DIMENSIONS W/ ARCH AND ELEVATOR SHOP * VERIFY ALL DIMENSIONS W/ ARCH AND ELEVATOR SHOP S| #13-0123

DRAWINGS PRIOR TO START OF CONSTRUCTION DRAWINGS PRIOR TO START OF CONSTRUCTION




